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1. Do not open the booklet unless you are 

asked to do so. 

 1. iz’u&iqfLrdk dks rc rd u [kksysa tc rd vkils dgk 

u tk,A 

2. The booklet contains 60 questions. 

Examinee is required to answer any 50 

questions in the OMR Answer-Sheet 

provided and not in the question booklet. If 

more than 50 questions are attempted by 

student, then the first attempted 50 

questions will be considered for evaluation. 

All questions carry equal marks. 

 2. iz’u&iqfLrdk esa 60 iz’u gSaA ijh{kkFkhZ dks fdUgha  

50 iz’uksa dks dsoy nh xbZ OMR vkUlj&’khV ij gh 

gy djuk gS  iz’u&iqfLrdk ij ughaA ;fn Nk= }kjk 

50 ls vf/kd iz’uksa dks gy fd;k tkrk gS rks izkjfEHkd 

gy fd;s gq, 50 mŸkjksa dks gh ewY;kadu gsrq lfEefyr 

fd;k tk,xkA lHkh iz’uksa ds vad leku gSaA 

3. Examine the Booklet and the OMR Answer-

Sheet very carefully before you proceed. 

Faulty question booklet due to missing or 

duplicate pages/questions or having any 

other discrepancy should be got 

immediately replaced. 

 3. iz’uksa ds mŸkj vafdr djus ls iwoZ iz’u&iqfLrdk rFkk 

OMR vkUlj&’khV dks lko/kkuhiwoZd ns[k ysaA nks”kiw.kZ 

iz’u&iqfLrdk ftlesa dqN Hkkx Nius ls NwV x, gksa ;k 

iz’u ,d ls vf/kd ckj Ni x, gksa ;k mlesa fdlh 

vU; izdkj dh deh gks  rks mls rqjUr cny ysaA 
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1. vPNh ty fudkl okyh e`nkvksa esa mxus okyh 

Qlysa ukbVªkstu dks fdl :i esa ysrh gSa \ 

 
1. Which form of nitrogen is taken up by 

plants growing on well drainaged soil ? 

(A) 3NO    (A) 3NO   

(B)  2N    (B)  2N   

(C)  4NH    (C)  4NH   

(D) mi;qZDr lHkh  (D)  All of the above 

2. 69 fdxzk- ukbVªkstu dh iwfrZ ds fy, ;wfj;k 

dh fdruh ek=k dh vko’;drk gksxh \ 

 
2. For supplying 69 kg N, how much urea 

will be required ? 

(A) 200 fdxzk-  (A) 200 kg 

(B) 100 fdxzk-  (B)  100 kg 

(C) 150 fdxzk-  (C)  150 kg 

(D) 50 fdxzk-  (D)  50 kg 

3. dsUnzh; moZjd xq.koŸkk fu;a=.k ,oa izf’k{k.k 

laLFkku fLFkr gS % 

 
3. Central Fertilizer Quality Control and 

Training Institute is situated at : 

(A) y[kuÅ esa  (A) Lucknow 

(B) csaxyq# eas  (B)  Bengaluru 

(C) dukZVd esa  (C)  Karnataka 

(D) Qjhnkckn esa  (D)  Faridabad 
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4. moZjd fu;a=.k vkns’k fdl o”kZ ykxw gqvk \ 
 

4. Fertilizer control order established in 

which year ? 

(A) 1957  (A) 1957 

(B)  1955  (B)  1955 

(C)  1986  (C)  1986 

(D)  1950  (D)  1950 

5. ;wfj;k esa vf/kdre fdrus izfr’kr ckb;wjsV 

gksuk pkfg, \ 

 
5. What is maximum permissible limit of 

biuret in urea ? 

(A) 1%  (A) 1% 

(B)  1.5%  (B)  1.5% 

(C)  2%  (C)  2% 

(D)  2.5%  (D)  2.5% 

6. Bksl moZjdksa dks cqokbZ ;k cqokbZ ls igys [ksr 

esa QSykus dh fØ;k dks dgrs gSa % 

 
6. Spreading of solid fertilizer over the 

entire field before or at sowing time is  

called : 

(A) csly Mªsflax  (A) Basal dressing  

(B) VkWi Mªsflax  (B)  Top dressing 

(C) lkbM Mªsflax  (C)  Side dressing 

(D) cS.M IyslesaV  (D)  Band placement 
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7. flaxy lqijQkWLQsV cukus ds fy, jkWd QkWLQsV 

dh fØ;k fuEufyf[kr esa ls fdl vEy ls 

djkrs gSa \ 

 
7. Single superphosphate is produced by the 

reaction of rock phosphate with which of 

the following acid ? 

(A) 3HNO    (A) 3HNO   

(B)  3 4H PO    (B)  3 4H PO   

(C)  2 4H SO    (C)  2 4H SO   

(D)  HCl  (D)  HCl 

8. ikS/kksa ds fy, vko’;d lw{e rRoksa dh la[;k  

gS % 

 
8. Total number of essential micronutrients 

for plant is : 

(A) 4  (A) 4 

(B)  17  (B)  17 

(C)  9  (C)  9 

(D)  8  (D)  8 

9. dk;Z ds vk/kkj ij] fuEufyf[kr esa ls dkSu&ls 

rRoksa dks eq[; lajpukRed rRo ds :i eas 

oxhZd`r fd;k x;k gS \ 

 
9. Based on function, which of the 

following elements are classified as main 

structural element ? 

(A) Ca, Mg, S  (A) Ca, Mg, S 

(B)  C, H, O  (B)  C, H, O 

(C)  N, P, K  (C)  N, P, K 

(D)  Fe, Zn, Cu  (D)  Fe, Zn, Cu 



 

AG–6003 ( 6 )  Set-D 

10. ikS/kksa esa ‘kdZjk ds :ikUrj.k ds fy, dkSu&lk 

rRo vko’;d gksrk gS \ 

 
10. Which element is essential for 

translocation of sugar in plant ? 

(A) Fe  (A) Fe 

(B)  Mo  (B)  Mo 

(C)  B  (C)  B 

(D)  Zn  (D)  Zn 

11. fuEu esa ls ,d e`nk dk vo;o ugha gS % 
 

11. Which of the following not a component 

of soil ? 

(A) dkcZfud inkFkZ  (A) Organic matter 

(B) [kfut inkFkZ  (B)  Mineral matter 

(C) ty  (C)  Water 

(D) tyok;q  (D)  Climate 

12. lYQj fdl ,ehuks ,flM dk ?kVd  

gS \ 

 
12. Sulphur is constituent part of which 

amino acid ? 

(A) esfFk;ksukbu  (A) Methionine 

(B) flLVhu  (B)  Cystein  

(C) flLVkbu  (C)  Cystine 

(D) mi;qZDr lHkh  (D)  All of the above 
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13. ‘kCn ßdk;kZRed iks”kd rRoÞ fdlus fn;k \ 
 

13. Term “Functional nutrient” was 

introduced by : 

(A) fxzl  (A) Gris 

(B) fudksyl  (B)  Nicholas 

(C) LizsUtsy  (C)  Sprengel  

(D) vjukWu  (D)  Arnon 

14. fudy dh ikS/ks esa vfuok;Zrk dc [kksth  

x;h \ 

 
14. When the essentiality of nickel was 

discovered ? 

(A) 1939  (A) 1939 

(B)  1950  (B)  1950 

(C)  1987  (C)  1987 

(D)  1922  (D)  1922 

15. e`nk eas dkSu&lk vk;u T;knk xfr’khy gksrk  

gS \ 

 
15. Which ion is highly mobile in  

soil ? 

(A) 3NO    (A) 3NO   

(B)  4NH    (B)  4NH   

(C)  +K    (C)  +K   

(D)  ++Ca    (D)  ++Ca   
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16. gjh [kkn dks e`nk eas fdl voLFkk eas iyVuk 

pkfg, \ 

 
16. The green manuring crop should be 

turned at which stage in soil ? 

(A) Qwy vkus ij  (A) Flowering stage 

(B) ifjiDork gksus ij  (B)  Maturity stage 

(C) fdYys fudyus ij  (C)  Tillering stage 

(D) cht cuus ij  (D)  Seed formation stage 

17. xkscj dh [kkn eas fdrus izfr’kr QkWLQksjl 

ik;k tkrk gS \ 

 
17. How much % phosphorus is present in  

F. Y. M. ? 

(A) 0.1%  (A) 0.1% 

(B)  0.5%  (B)  0.5% 

(C)  0.25%  (C)  0.25% 

(D)  0.75%  (D)  0.75% 

18. ew¡xQyh dh [kyh esa fdrus % u=tu ik;k 

tkrk gS \ 

 
18. Groundnut cake contains how much % of 

nitrogen ? 

(A) 7.0%  (A) 7.0% 

(B)  3.0%  (B)  3.0% 

(C)  5.0%  (C)  5.0% 

(D)  10.0%  (D)  10.0% 

19. dEiksLV cukus dh cSaxyksj fof/k fdlus nh  

Fkh \ 

 
19. Bangalore method of composting was 

given by : 

(A) okbZ- Mh- okM  (A) Y. D. Wad 

(B) lksjsulu  (B)  Sorenson 

(C) ,- gksokMZ  (C)  A. Howard 

(D) ,y- ,u- vkpk;Z  (D)  L. N. Acharya 
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20. ikS/kksa ,oa i’kqvksa ds vif’k”V inkFkZ tks ikS/ks ds 

iks”kd rRoksa ds lzksr ds :i esa bLrseky gksrs 

gSa] dgykrs gSa % 

 
20. Plants and animals wastes that are used as 

source of plant nutrient, is called : 

(A) [kkn  (A) Manure 

(B) moZjd  (B)  Fertilizer 

(C) ukbV e`nk  (C)  Night soil 

(D) izkFkfed iks”kd  (D)  Primary nutrient 

21. ftIle esa fdrus izfr’kr lYQj ik;k tkrk  

gS \ 

 
21. In gypsum, how much % sulphur is 

present ? 

(A) 18.6%  (A) 18.6% 

(B)  20.5%  (B)  20.5% 

(C)  16.5%  (C)  16.5% 

(D)  12.5%  (D)  12.5% 

22. vkbZ- ,u- ,e- ds vo;o gSa % 
 

22. Components of I. N. M. are : 

(A) moZjd  (A) Fertilizer 

(B) [kkn  (B)  Manure 

(C) tSomoZjd  (C)  Biofertilizer  

(D) mi;qZDr lHkh  (D)  All of the above 

23. vjuku rFkk LVkmV us vko’;d ikni iks”kd 

rRo ds fdrus ekin.M fn;s Fks \ 

 
23. How many total number of criteria of 

essentiality of plant nutrients proposed by 

Arnon and Stout ? 

(A) 5  (A) 5 

(B)  4  (B)  4 

(C)  3  (C)  3 

(D)  2  (D)  2 
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24. f}rh;d vko’;d ikni iks”kd rRo dkSu&lk  

gS \ 

 
24. Which is the secondary essential plant 

nutrient ? 

(A) N  (A) N 

(B)  Fe  (B)  Fe 

(C)  Cu  (C)  Cu 

(D)  S  (D)  S 

25. moZjd ftleas ,d iks”kd rRo ik;k tkrk gS] 

dgykrk gS % 

 
25. Fertilizer that contains a single nutrient is 

called : 

(A) ladqy moZjd  (A) Complex fertilizer 

(B) ljy moZjd  (B)  Straight fertilizer 

(C) fefJr moZjd  (C)  Mixed fertilizer 

(D) ,ekbM moZjd  (D)  Amide fertilizer 

26. fuEufyf[kr eas ls dkSu&lk ukbVªkstuh moZjd 

mnklhu izd`fr dk gksrk gS \ 

 
26. Which of the following nitrogenous 

fertilizer is neutral in nature ? 

(A) veksfu;e ukbVªsV  (A) Ammonium nitrate 

(B) dSfY’k;e veksfu;e ukbVªsV  (B)  Calcium ammonium nitrate  

(C) veksfu;e DyksjkbM  (C)  Ammonium chloride 

(D) ;wfj;k  (D)  Urea 
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27. veksfu;e lYQsV eas fdrus izfr’kr ukbVªkstu 

ik;k tkrk gS \ 

 
27. Percent of nitrogen present in ammonium 

sulphate is : 

(A) 13%  (A) 13% 

(B)  22%  (B)  22% 

(C)  33.5%  (C)  33.5% 

(D)  20.6%  (D)  20.6% 

28. e`nk dh fofunsZ’k ifjfLFkfr;ksa esa Qly iSnk 

djus dh {kerk dks dgrs gSa % 

 
28. The capacity of soil to produce crop with 

specific system of management is called : 

(A) e`nk xq.k  (A) Soil quality  

(B) e`nk moZjrk  (B)  Soil fertility  

(C) e`nk mRikndrk  (C)  Soil productivity 

(D) e`nk LokLF;  (D)  Soil health 

29. ikS/ks esa ykSg rRo dh vfuok;Zrk dh [kkst 

fdlus dh Fkh \ 

 
29. Who discovered the essentiality of iron in 

plant ? 

(A) bZ- fxzl  (A) E. Gris 

(B) okfjaxVu  (B)  Warrington  

(C) ,- ,y- lksej  (C)  A. L. Sommer 

(D) ihVjlu  (D)  Peterson 

30. ikS/kksa esa dkSu&lk iks”kd rRo lcls vf/kd 

xfr’khy gksrk gS \ 

 
30. Which nutrient element is highly mobile 

in plant ? 

(A) ftad  (A) Zinc 

(B) ukbVªkstu  (B)  Nitrogen  

(C) cksjkWu  (C)  Boron 

(D) dSfY’k;e  (D)  Calcium 



 

AG–6003 ( 12 )  Set-D 

31. fdl iks”kd rRo dh deh ds y{k.k ‘kh”kZ 

dfydk ij fn[kkbZ nsrs gSa \ 

 
31. Which nutrient shows deficiency 

symptom on terminal bud ? 

(A) B  (A) B 

(B)  Mo   (B)  Mo  

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) mi;qZDr eas ls dksbZ ugha  (D)  None of the above 

32. iks”kd rRo tks LVksesVk ds [kqyus dks fu;af=r 

djrk gS % 

 
32. Nutrient element that regulates stomatal 

opening : 

(A) K  (A) K 

(B)  Ca  (B)  Ca 

(C)  P  (C)  P 

(D)  Mg  (D)  Mg 

33. ukbVªkstu fuEufyf[kr esa ls fdldk vko’;d 

?kVd gS \ 

 
33. Nitrogen is an essential constituent of the 

following : 

(A) olk  (A) Fat 

(B) foVkfeu  (B)  Vitamin 

(C) dkcksZgkbMªsV  (C)  Carbohydrate 

(D) izksVhu  (D)  Protein  

34. ikS/kksa esa vf/kd okuLifrd fodkl rFkk xgjk 

gjk jax fdl iks”kd rRo }kjk gksrk gS \ 

 
34. Vigorous vegetative growth and dark 

green colour in plants impart by which  

nutrient ? 

(A) QkWLQksjl  (A) Phosphorus 

(B) ukbVªkstu  (B)  Nitrogen 

(C) iksVSf’k;e  (C)  Potassium 

(D) dSfY’k;e  (D)  Calcium 
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35. U;wfDyd ,flM] QkbfVu rFkk QkWLQksfyfiM 

dk ?kVd rRo dkSu&lk gS \ 

 
35. Which element is a constituent of nucleic 

acid, phytin and phospholipid ? 

(A) P  (A) P 

(B)  Zn  (B)  Zn 

(C)  B  (C)  B 

(D)  Cu  (D)  Cu 

36. QkWLQksjl eq[;r% ikS/ks ds fdl Hkkx dh o`f) 

dks grksRlkfgr djrk gS \ 

 
36. Phosphorus mainly stimulates the growth 

of which part of plant ? 

(A) tM+  (A) Root 

(B) ruk  (B)  Shoot 

(C) iŸkh  (C)  Leaf 

(D) Qwy  (D)  Flower 

37. DyksjksfQy dk eq[; ?kVd rRo gS % 
 

37. The main constituent element of 

chlorophyll is : 

(A) Mg  (A) Mg 

(B)  Ca  (B)  Ca 

(C)  Mn  (C)  Mn 

(D)  S  (D)  S 

38. ukbVªksftust ,Utkbe dk vko’;d vo;o gS % 
 

38. The essential component of nitrogenase 

enzyme is :  

(A) Fe  (A) Fe 

(B)  Mo  (B)  Mo 

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) mi;qZDr eas ls dksbZ ugha  (D)  None of the above 
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39. iks”kd rRo vk;Ul dk e`nk ls ikS/ks dh tM+ksa 

rd lapkj fdl fof/k ls gksrk gS \ 

 
39. Movement of nutrient ions takes place 

from soil to plant root by which process ? 

(A) lagfr izokg  (A) Mass flow 

(B) folj.k  (B)  Diffusion  

(C) ewy vojks/ku  (C)  Root interception 

(D) mi;qZDr lHkh  (D)  All of the above 

40. ikS/ks dh ifŸk;ksa dh f’kjkvksa ds chp gfje 

ghurk fdl iks”kd rRo dh deh dk y{k.k  

gS \ 

 
40. Chlorosis in between the veins is the 

deficiency symptom of which nutrient ? 

(A) K  (A) K 

(B)  Mg  (B)  Mg 

(C)  P  (C)  P 

(D)  Ca  (D)  Ca 

41. tc ikS/ks esa vk;uksa dk vo’kks”k.k oS|qr& 

jklk;fud foHkokUrj ds fo#) gksrk gS] rks ;g 

dgykrk gS % 

 
41. When absorption of ions takes place 

against an electro-chemical gradient in 

the plant, it is called : 

(A) lfØ; vo’kks”k.k  (A) Active absorption 

(B) fuf”Ø; vo’kks”k.k  (B)  Passive absorption  

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) mi;qZDr eas ls dksbZ ugha  (D)  None of the above 
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42. veksfu;e vk;u ls ukbVªkbV vk;u eas cnyus 

dh fØ;k fdl lw{etho }kjk dh tkrh gS \ 

 
42. The process of conversion of ammonium 

ion to nitrate ion is carried out by which 

organism ? 

(A) ukbVªkscSDVj  (A) Nitrobacter 

(B) jkbtksfc;e  (B)  Rhizobium 

(C) ukbVªkslkseksukl  (C)  Nitrosomonas 

(D) ,tksVkscSDVj  (D)  Azotobacter 

43. vko’;d ikni iks”kd rRoksa dh dqy la[;k gS % 
 

43. Total number of essential plant nutrients 

is : 

(A) 19  (A) 19 

(B)  17  (B)  17 

(C)  21  (C)  21 

(D)  20  (D)  20 

44. fuEufyf[kr esa ls dkSu&lh Qly gjh [kkn ds 

:i eas iz;ksx ugha dh tkrh gS \ 

 
44. Which of the following crops is not used 

as green manure ? 

(A) <Sapk  (A) Dhaincha 

(B) lubZ  (B)  Sunhemp 

(C) e¡wx  (C)  Mung 

(D) eDdk  (D)  Maize 

45. e`nk moZjrk dk ewY;kadu fuEufyf[kr eas ls 

fdl fof/k ls fd;k tkrk gS \ 

 
45. Evaluation of soil fertility is done by 

which method ? 

(A) e`nk ijh{k.k  (A) Soil test  

(B) ikni fo’ys”k.k  (B)  Plant analysis 

(C) ikS/kksa eas iks”kd rRoksa dh deh ds y{k.k  (C)  Nutrient deficiency symptoms of 

plants 

(D) mi;qZDr lHkh  (D)  All of the above 
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46. ikS/kksa dh ,slh voLFkk ftleas ikS/ks fcuk deh ds 

y{k.k iznf’kZr fd;s x;s iks”kd rRoksa dh vf/kd 

ek¡x djrs gSa] dgykrh gS % 

 
46. A situation in which a crop requires more 

of a given nutrient element without 

exhibiting deficiency symptoms on plant, 

is called : 

(A) deh  (A) Deficiency  

(B) fo”kSykiu  (B)  Toxicity 

(C) vn`’; Hkw[k  (C)  Hidden hunger 

(D) i;kZIrrk  (D)  Sufficiency 

47. /kkU; Qlyksa gsrq e`nk uewuk fdl xgjkbZ ls 

ysuk pkfg, \ 

 
47. Soil sample should be  taken at which 

depth for cereal crops ? 

(A) 25 lseh-  (A) 25 cm 

(B) 15 lseh-  (B)  15 cm 

(C) 5 lseh-  (C)  5 cm 

(D) 30 lseh-  (D)  30 cm 

48. ßA ekuÞ rduhdh fdlds }kjk nh x;h \ 
 

48. “A value” technique was given by : 

(A) vjuku vkSj LVkmV  (A) Arnon and Stout  

(B) fudksyl  (B)  Nicholas 

(C) fÝM ,oa Mhu  (C)  Fried and Dean 

(D) yklZu  (D)  Larson 

49. mPp e`nk moZjrk Lrj ds fy, e`nk eas 

dkcZfud inkFkZ dh ek=k gksuh pkfg, % 

 
49. For high soil fertility level the organic 

matter content in soil should be : 

(A) > 0.75%  (A) > 0.75% 

(B)  0.5 ls 0.75%  (B)  0.5 to 0.75% 

(C)  < 0.5%  (C)  < 0.5% 

(D) mi;qZDr eas ls dksbZ ugha  (D)  None of the above 
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50. e`nk mRikndrk izfrQy gS % 
 

50. Soil productivity is the function of : 

(A) e`nk moZjrk dk  (A) Soil fertility 

(B) izcU/ku dk  (B)  Management 

(C) tyok;q dk  (C)  Climate  

(D) mi;qZDr lHkh  (D)  All of the above 

51. ßxUus dk igyk CykbVÞ fdl rRo dh deh ls 

gksrk gS \ 

 
51. “Pahla blight of sugarcane” is caused by 

deficiency of which nutrient ? 

(A) Mn  (A) Mn 

(B)  Fe  (B)  Fe 

(C)  Zn  (C)  Zn 

(D)  Mo  (D)  Mo 

52. ßeDds eas lQsn dyhÞ jksx fdl rRo dh deh 

ls gksrk gS \ 

 
52. “White bud of maize” disease is caused 

by deficiency of which element ? 

(A) Mn  (A) Mn 

(B)  Zn  (B)  Zn 

(C)  Fe  (C)  Fe 

(D)  Mo  (D)  Mo 

53. ljlksa fdl rRo dh deh ds fy, lwpd ikS/ks 

ds :i esa bLrseky gksrk gS \ 

 
53. Mustard used as indicator plant for 

deficiency of which element ? 

(A) cksjkWu  (A) Boron 

(B) ftad  (B)  Zinc 

(C) ukbVªkstu  (C)  Nitrogen 

(D) QkWLQksjl  (D)  Phosphorus 
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54. ;fn e`nk ijh{k.k miyC/k ukbVªkstu dh ek=k  

< 280 fdxzk-/gs- fn[kkrk gS] rc ;g 
---------------------- 

ukbVªkstu Lrj dks fn[kkrk gSA 

 
54. If soil test shows available nitrogen 

content < 280 kg/ha., then it indicates 

................ nitrogen level. 

(A) mPp  (A) High 

(B) e/;e  (B)  Medium 

(C) de  (C)  Low 

(D) mi;qZDr eas ls dksbZ ugha  (D)  None of the above 

55. eqxhZ dh [kkn eas QkWLQksjl dh fdrus izfr’kr 

ek=k gksrh gS \ 

 
55. Phosphorus content (%) in poultry 

manure is : 

(A) 2.63%  (A) 2.63% 

(B)  1.60%  (B)  1.60% 

(C)  1.90%  (C)  1.90% 

(D)  1.30%  (D)  1.30% 

56. ;wfj;k dh rqY;kadh vEyrk gksrh gS % 
 

56. The equivalent acidity of urea is : 

(A) 30  (A) 30 

(B)  80  (B)  80 

(C)  50  (C)  50 

(D)  100  (D)  100 
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57. ;wfj,t ,Utkbe fdl moZjd ds ty fo’ys”k.k 

ds fy, ftEesnkj gS \ 

 
57. Urease enzyme is responsible for 

hydrolysis of which fertilizer ? 

(A) Mh- ,- ih-  (A) DAP 

(B) veksfu;e ukbVªsV  (B)  Ammonium nitrate 

(C) veksfu;e lYQsV  (C)  Ammonium sulphate  

(D) ;wfj;k  (D)  Urea 

58. /kku dh Qly eas ukbVªkstu mi;ksx {kerk D;k 

gksrh gS \ 

 
58. What is nitrogen use efficiency in rice 

crop ? 

(A) 20-30%  (A) 20-30% 

(B)  45-60%  (B)  45-60% 

(C)  28-34%  (C)  28-34% 

(D)  42-50%  (D)  42-50% 

59. fuEufyf[kr esa ls dkSu&lk ukbVªhdj.k 

vojks/kd gS \ 

 
59. Which of the following is nitrification 

inhibitor ? 

(A) ,u&loZ  (A) N-serve 

(B) ,- ,e-  (B)  A. M. 

(C) ,l- Vh-  (C)  S. T. 

(D) mi;qZDr lHkh  (D)  All of the above 

60. dkcZfud inkFkZ dk egRoiw.kZ lzksr gS % 
 

60. Important source of organic matter is : 

(A) dEiksLV  (A) Compost 

(B) xkscj dh [kkn  (B)  F. Y. M. 

(C) gjh [kkn  (C)  Green manure 

(D) mi;qZDr lHkh  (D)  All of the above 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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